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Paragraph:

During the problems we looked at in class, we looked at how the drag and lift equations
are used. We also learned that when an object is traveling at a low velocity it has a low
Reynolds number and when it is traveling at a high velocity it has a high Reynold’s number. This
is because at high speeds, the fluid becomes more turbulent and when it is at slow speeds it is
laminar. Turbulent fluid has a high Reynold’s number while laminar fluids have low Reynold’s
numbers. Additionally, we looked at open channel flow and how the pressure is constant and is
always just atmaospheric pressure.

We also learned the formula for forces due to fluids in motion. This formula is further
broken up into formulas for the forces in the X, y, and z directions by using the velocity in either
the x, y, or z direction. This can be found using trigonometry. It is important to know which
forces are acting in which directions so that they can be added together properly. The directions
of the forces are determined by using a free-body diagram.



